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MT curve measurement

* Photon

- Ag:Er absorber (Er: 414 ppm)
* 1x1 mm?

* Given field current = 100 mA
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MT curve measurement

MT curve, photon
AT 02 1M BLMSP Neod, CT1X114W CT311 M18A
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Signal Size

Phonon Template (@ 2615 keV)

Field current problem?

\ Photon Template (@ 2615 keV)
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MT curve measurement

 Phonon

- Ag:Er absorbers (Er: 414 ppm)

* One absorberis 1x1 mm?, and the
other is 5% smaller

* [t is the first time to measure this
kind of MMC.

 Given field current = 100 mA
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MT curve measurement

MT curve, phonon MT curve, phonon
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The result is far from 5% difference of magnetization.
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MT curve measurement

MT curve, phonon

MT curve, phonon
AT 02 1M BELMSP Nod9, CT1X114W C7311 M17B

A17 02 1M BLMSP No49, CT1X114W C7311 M17B
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4 of the result is similar to the theoretical value.
Why?
2019-08-06

Low temp. meeting



Analysis

* New set of data

- 190719~0729 (LTD-18)
* Tl source
+ 870293 events

190719 sig1 DC.ph0 {Th source)
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Analysis

MNew photon design, 20 mK, 190716 sig01 MNew photon design, 20 mK, 190716 sig01
w1072 360294 events 360294 events
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Analysis
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Analysis
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Analysis

MNew photon design, 20 mK, 190716 sig01
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Analysis

New photon design, 20 mK, 190228

18 w1072 271216 events
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Analysis

- Worse parameters? Need to study......
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